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[1#8) (  -1.4 m)

1[ 5]
2[ 6]
3[ 8]
41 3]
5[ 2]

3041k
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6L 7] 914 H
70 9] 2697k ¥
8[ 1]54907% H
9[ 4] 296H H

[3#8]) ( -1.7 m)

M HE 3 (S&K-HE)IT

1[ 6]34387F /K BE K 2 (h-#H5)12.
i 2 (RATERT-H5)12.
3L 9] 169%s A i K3 (FRAFHETHE)12.
— K2 (HFRP-HR)12.

2 MRAC-%%)12.
60 8]11134= A& f&4i 3 (THFEH -KE)12.
R 2 (RRMET-HE)12.
B K 2 (GLaBRERT5EE) 12.
331 Mkt 3 (PRl -5 %) Ri5

2[ 5] 282/ A%

41 4] 473K i
50 71 13i&

70 1]
8[ 2]
[ 3]
[5#H] (
10 7] 623K K
2[ 6] 338 IR
3[ 9] 408+ H
41 5] 207 Jd
5[ 4] 8831l
6[ 8] 589 &
7[ 3] 869k% ik
8[ 213440 H
o[ 1] 3973 51

[7#8] (
10 8] 8167k
20 4] 52E T
3[ 213441 & )1

3 I &
8825 H

-0.1 m)

&’ E

-1.0 m)

60 7] 12/ O ak3 (EHEP-HE)IS
7051 81 M &3 OMIBEP-FE)13.

8[ 9J1449%5 1 5 K 2 (CORSA-#E)13.
I 2 CREENH-#%E) Ri5

[ 6] 44117 1
(98] ¢ +0.1 m)

10NN ES KBRS (THES-5%)13.
2[ 6113960 g Sk BE 2 JIIEH-HE)13.
83MH O M EH2 UMIFEF-#HE)13.
4[ 2] 5641LN FHANE 2 (FA)IAS %E)13.
B W 3 ONJIIE -85 $)13.
UK 2 CRPEET%E)13.
— 3 (R -5 E) Ri5
B k2 (Il EH -5 E) Ri5
£ I 2 (N FRY5E) Ri5

3[ 4]

5[ 7] 82K H
6 3] 2T A4
[ 5] 4345 1%
[ 811389k A
[ 9] 101/ A&

160 %8 fF K3 MRAC-BE)11.
17 5K 31 3 MRAC-#%)11.
w Sf 3 (BRELAT-HE)11.
(BRI 55 ) 11,
B B2 3 (RHEMT-%E) 1.
M A3 (REREIT-5E)11.
.96
B ff 3 G- BEE) 12

&1 (EAELRP5HE)13.

FEEE 3 (FEH-HE)12.
CRRI AR 55 ) 12.
I\ BE 2 CRRIENI 55 £) 12,
fis 3B 2 (B -FFE)12.
UK 2 (BLABAEEDAE)12.
B g 3 (FAIAY-5E) 12,
BE S 3 (GULABAFED-AE)12.
B2 GOl -RER) 12,
B K2 (BT -#F)13.

il K 2 (R -5 5) 12,
b5 8 2 (RERE)IT-5HE)12.

5% 2 (WOR-RER) 13.
AL 1] 1080 A = fig 2 (FRUMFA-6E) 13.
50 3] 381FLRAM i)t 3 UNEH R )13

18
35
99
65
89
90

18
30

17
19
27
31
33
37
44
44

30
44
61
7
7
75
82
82
23
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47 7]

+0. 1 m)
14+ K
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5[ 2] 1254F K
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[6#8) ( -0.8 m)
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i £ 3 (GLASKIRIEE) 13.
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[ 9]
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-1.6 m)
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8[ 4] 4725 H
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+0.1 m)
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1 b3 CRART-HE)12.
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01 + | 22 (BAELAT-HE)12.

STTHE S 8 #t 3 (RRELEZ-HE)13.
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50 9] 136474 L Taya 3 (THFEH-5HE)13.
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1D B E3 (EEP-5E)13.
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20 6] 104757 M&—B0 2 (FMFET 5E)13.
3L 9] 214Bg 1R ¥l Ik 2 (RAZRT-HE)13.
41 811393l JaUE 2 Ol -5 ) 14.
5[ 4] 283:Ti% ;2.zBh 2 (RATET-%E)14.
60 511395/N\8f<F —i# 2 (I EH-RiE)14.
70 2] 3274 M FHiERS 2 (GB)lIH -5 ) 14,
8L 3] 2128 A Sk 2 (RBH=RT-5HE)14.
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(11#8) ¢ +0.9 m)
1[ 3] 3054k i 3 tx 3 (RAELAT-HE)11.48
20 8] 86/l B3 (BRUT-HE)I1.69
3[ 1] 806 1l Biz7R 3 (T -Rr1)12. 14
4[ 2] 805FA M fHzB) 3 (TR E)12.43
5[ 4] 80+ fh K3 (lEEY 5E)12. 51
60 9] 803fm W & 22 3 (Wh#E - HrE)12. 94
70 6] 8% A A} 2 (W)IH-5TE)15.03
8L 7] 4164 1 X H 2 (ARIET-55)16. 31
[ 5] 7% B2 @h-&E) XS

BZ 100m R Q348)
[1#8] ( +0.7 m)
1091 61 KM@ % A82 (EieELHE)10.57
20 7] 925 Kk 47 F M4 (B K- H 5)10.58
3[ 6129704 f#&  FH Fn 1 G K- #f) 10. 71
A[ 3]2972% fE ST k- AeiEE) 10. 76
5[ 11436642 %~ A M54 (HEFKHE)10.80
6[ 2] 888F M M 2 (KA. Zu)10.87
70 8] 9261 8 7 b 4 (F K- # ) 10. 89
[ 4]14372%F0 H 2223 (WEFKHE) RIG
[ 5] 92788 b # K2 (B K- H¥E) x5

[3#8] (  -0.8 m)
1[0 11304458 )11 8 4 2 GfrE K- #E5)11.04
2[ 4] 321 JAL & (ROOTS-#x)11.24

3[ 2] 88THE A 7z g2 (KRHA-FH)11.25
4[ 8]29887% 310 % 1 (HvE K- #iE) 11.33
5[ 6129904% ji&  FH 25 1 (v K- #50) 11. 45
6[ 7] 64%F A B2 ERFRKHEE11.45
[ 3130407 & & 722 (i K- RiR) Ri5
[ 5] 8961 firy E 22 1 (KH K- %) Ri5
[9] 328 H fEA3KERE -&E) RS
[5#8] (  +1.0 m)
1[ 8] 380#x ff] 52 #E  (ILBraEst- £%)10.73
2[ 6] 3719 & B (k%REk-E¥)11.01
3[ 11311475 mE  #8F 4 GolirE k- 750 11.01
4[ 7]4355%% |5 E K 3 (MEFK-HE)11.02
5[ 4] 365¥E&)l Z¢tE 3 (lEsE -5 %) 11.07
6 912642 T fE  EE3 CRAMA-HE)11.13
70 3] 9023 R Z2 Ji 3 CREK- %) 11,22
8[ 514054 A fRH HEir 1 (EERA-HE)11.37
[ 2] 40v% H 2 (K& -H5E) K5
[7#8] (0.2 m)
10 212313 KRZFS N 4 (Tempest-FE)10. 86
2[ 3130164 IRk (248 2 (B K- i) 11. 00
3[ 5]30850E 57 K — 3 (mpE K- FHAR)11.22
41 71310135 7K 2% BE 4 (k- o) 11.29
5[ 6]43494i i F4E 2 (MEFK-5£)11.30
6[ 4] 6214k 1= & 2 ERERAHE)11.37
70 9] 351FE Zm KRS (VIDA-#%)11.37
8[ 8] 65FH & St — 3 (HEFEA-#E)11.46
9[ 113058 )11 % {E3 (M R-HE)11.74
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e 3

1 16 & FF K3 MRAC-#%)11.18
17 2 K W3 MRAC-%%)11.35
30514 Rk E R 3 (BRAELRM-HE)11.48
3044t aE b3 (BAELAP-mE)11.59
3378k - MEHE (RN -5 ) 11. 65
149 & A2 MRAC -¥%)11.67
2/ K — &3 (RAMEH-5E)11. 68
86/ (LI HE g3 (F& P -HE)11.69

I+ 1 |

O OO = = O = =

+ + +

0 ~J o Ol Wb

(248 ( -2.0 m)
10 713112E8 R BB 7K 4 (HivaR-#%)10.90
2[ 8130713 (L fF & 3 Gr K- %) 10. 97
3[ 11301847 Fu 47 a5 2 (ki K- KBr)11.08
40 9] 89574 o A1 (KRHEK-FH)11.10
50 2] 891/ &2 =M 1 CRAUK- ) 11,12
6[ 5] 8987k AR 1 CKHEK -F#)11.18
7[ 6]2978/E /& 7 4 1 Gl k- AiEE) 11.19
[ 3] 362/h#k BB (VIDAHE)R5H
[ 4]13032/)s Ak B B 2 (B K - HR) R35
[4#8] (0.7 m)
10 7] 325/ 8 <F 8 1 CKHUA-22#)10. 91
2[ 6]3096 (L FH E A 4 GRvEK-5%)10.97
3[ 21309548 F 5% K4 ik #h)11. 11
41 8]2974%E #K Mt 1 (WFE K- HE)11.18
5[ 913026 % B 45 2 GhrEk-diEE) 11.19
6[ 4] 355°F % uR A (VIDA-%%)11.31
7[ 51833545 (L 1w B (BERTF-BEH)11.39
8[ 3]2991fm £ 5 K1 GREK-#HE)11.67
[ 11310778 AF  HE {58 4 GRFE K- i) Ri5
[6#8] (  +0.1 m)
103] 3324 1 ®# A (TKN-HEH)11.01
2[ 11306111 #F ¢ 3 Gakva k- Hrik) 11.13
3[ 613102 A/ER] Bk 4 (K-8 E)11. 21
41 81555685 A ME ST (GrowSportsACHR) 11.22
5[ 41300142 jif  BE °F 2 Glvak-14E)11.36
5[ 5]4661 1 H & 3 (EwiERE-5%)11.36
70 2] 9097 B Fj /A 3 (KFE—&-HE)11. 46
8[ 7130041 T & B2 A K-EE)11.48
9[ 9] 901PUCH FHIK 2 CRHAK-2H)11. 61
(8#H] ( -1.9
1[ 413025411 2272 2 (s K- #E)11. 40
2[ 6] 44 FE  E2 (RE&-HE)11.40
3[ 5]46554x~ AT BE EX 1 CEWMERRE-HE)11. 43

~

40 7] 1495  HE SF 2 (el HE) 11,47
5011 99B8  f& — (HERER-HE)11.54

6 8] 9104 & 1f #f 3 (KIE—&-%E)11.54
70 9] 5607k & 1 5¢2 RAME-wE)11.75
8[ 312772/ H  fE3 ERE -HE)11.79

[ 21265870 ji& W5 1 2 GHFHEE HE) Ri5G

© = = _hbhh O b



[9#8] ( +0.9 m)
1[ 3]4063/\ &5 — H33 (BFRA-HE)11.32
2[ 7] 367# A 40 23 (IfHE %E)11.51
3[ 5] 894F (L ¥ =k 1 CKHK-5H)11. 54
4[ 9146511 & & A 2 (EWGRRE-#%%) 11. 56
5[ 4] 570)i 0 — &= (¥ES.C-#%)11.60
6 2]15281/K & H: K1 GREAZH5E)11.60
70 6] 121/ K 2 it 2 (3l - 85 ) 11. 61
8[ 8] MM K& =3 (KE—F-HE)11.78
9[ 1153017 H & w1 (EAEA=A-%5%)12.02
[11#8] ¢  -1.0 m)
109] 373 fE 13 (NG BE) 11,62
2[ 8] 916%ihi =/ v/ 2 (KE—FH-#E)11.83
3[ 4] 24275 & 1M A 3 (EAHE-5E)11.88
A4[ 3] 9452 K -2 (RS -#E)11.89
50 5]2775FF & Hi—EF 2 GElE -5 E)12. 14
60 7) 1434 % % K1 (LR -¥E)12.26
[ 1] 458 B A1 (K& &) RS
[ 21468000 i 1% K 2 (EWE%E5E) Ri5
[ 6] 29%f® & EE R Rl&E-HE) KRG
[13#8] (  -1.5 m)
1[ 413425/ ] BE A 3 (JIlBERE-%%)11.80
2[ 5]13501 4 H & HE1 (BllRAR-#E)11.82
3[ 314671 K & 1& & 2 (EWfxs-5%)11.90
A[ 115287 18 8 =F 2 GRREA=A5%)11.99
50 9] 127wk )1l 4 F 1 L& -#£E)12. 20
6[ 8J3481H H P 2 (Rllkem-5E)12. 26
[ 2] 2212 ¥ & A 3 (EL - E) Ri5
[ 6]35033F H 22 %5 1 (BIRAE-HE) Rig
[ 7] 5687 (L i B CRAEEEH- 5N Rig
[15%8) ( -1.4 m)
1[03] 36425 w3 (KA -HE)11.87
2[ 41465447 (L 5E 2 (ERERE-5E)12.01
3L 611107 K A4k — 3k 2 (LE&-#£)12.04
4 9] 36675 i 5 B 3 (IIMH&E H%)12.04
5[ 513422k % @3 (e -%%)12.07
6 8J4677nKEF HBE2EL 2 (fEMkfliRe-5£)12.15
70 711298% M 78 K2 (FEStA 55)12. 44
8[ 1] 42085 A K3 UNIE - -£E)12.56
[ 2] 399iL b 4 ¥ 2 (LiEK- T3) Ri5
(1748 (  -1.0 m)
1[ 8] 378kt 3 Mt K2 (IEHE %E)12.03
2[ 3] 561 A Bi {8 2 (EAME % E)12.07
3[ 5110902 78 & 3} 3 (LE&-¥%£)12.08
4[ 6] 373HT [ FEIK 3 (IIBHE $HE)12. 25
50 9] 1324 P& b2 (XL -5%)12.43
6 4] 4278 MW ¥R K2 (KEE-#E)12.43
[ 2] 368 =& . 3 (JIIEHE HE) R
[ 7] 919f & ® H 2 (KE—/-5F) Ri5

[1048] ¢ 0.0 m)
1[3] 3984 M /& K4 (LEKR- =5)11
2[ 9] 943%5 K BE 3 (RAE-HE) 11
3[ 8] 1428y W 8 & 1 (Rl -#HE) 1
4[ 6]5553/ B (2291 (GrowSportsACdif) 11
5[ 4] 267JFm K (& -#HE) 1
6 21405917 B M K 2 (EFRA-HE)12
70 1153003 ¥ IE 1 (RERAZA5E) 12
8[ 515552/ & K M (GrowSportshCii) 12

[ 7]5555(J jik B (GrowSportsACHE) &
(1248] ¢ -0.3 m)
1[ 9] 576/NAfR &%

3[ 8]4679%% I

6[ 5]2656% &

8[ 2] 660/% H
9[ 711302 I %

(1481 (.  -1.0 m)

1[ 1]437074 B4 (MEFRHE).
2[ 5152978 & & 2 (GLRBEK=A-%E)11.
& 2F 2 (Emfizem-5E) 11.

3[ 41466985 K

41 2126463 1 # K3 GRAfm HE)12

5[ 7]3482%2H HE2AT 2 (Bllkam-HE) 12

60 8] 2175 H % th 3 (REAm-#E)12

70 3] 2364 It il K 1 (REAm-RE)12

8L 9] 287 H A8 PR 1 (A E -5 5)12
(

N
A
A
N
H
i

7
N

[ 6]13492/1N87 111 3} 3 (RIIRAER - HE) Ri%

(1648] (
10 9] 37278 H

-0.5 m)

3[ 5] 574h H f& K
5[ 2] 94T KR E
70 1] 122+ )11

9[ 8]4055— &

(18#] (  -0.7 m)

10 6126488 /U K HE3 ChFfig-HE)12.
2[ 7J1300Kk #F K B 2 (FEMILE - HE)12.

BE 1 Rk e - 5E) 12.
M2 UM #E) 12,
BEIAI-A5E)12.
(TemetiRm w1 13.
(fewefiRm-#E) 13.

3[ 2] 6587 &
4[ 5] 428 1&
508] T31H)Il 47 K
6 3] 653FMH FR1HD
70 9] 65407 i 5 HE

(ERIELEZ-HE) 11.
20 3] 3742 W Al 2 (& HE)11.
2 (Ewika a5 11.
41 61266350 M B2 CRAME W11
5[ 414676 5 £ w1 15 2 (EWiERE S5 11.
A2 CRFEFE R HE) 11
70 114656 1L H & f#ik 1 GERERR - HE) 1.
Ak AR 1 (ERERR-5E) 12,
KA (FERGR-HE)12.

A3 (IBRE-SHE) 11,
2[ 412654 ME—EF 2 CRAMS % E)11.
(EAlELHZ 5E) 11,
40 7] NNTR D BERES 2 (KE—F-HE)12.
B &2 GEAE-5E)12,
6[ 6] 6617% & #il Ik 1 (ERMERE HE)12.
BE2 Bls-HE)12.
8[ 315296MT [ H #f 2 (KREK-AHE)12.
BRI 1 CEERK-HE)12.

.67
.68
13
117
.18
.01
.21
.22
5
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10
10
A
88
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05
07
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89
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.14
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.32
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01
05
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[ 4] 376% g WA X 2 (IERRS &E) Ri5



(19481 (  +0.

1 m)

10 3146521k % A Fiiak 2 (EWefiks %E)12. 04

2[ 5] 6667t H

& 1 (EfiRE-5%)12. 08

30 7] 67018 BEwRAR 1 (EWefiReE - %5E) 12, 62

A[ 2] 46594 15
5[ 4] 67740 %
6[ 6] 668 iy
[ 8] 679 I B
[ 9]4657 % K
(2148) (  +1.
1[ 5135041 #&
2[ 6111095 &
3[ 714267 %
4[ 4146537 I8
5[ 2] 4255 1%
6[ 3] 283E L
70 9] 136
[ 8]33105¢ A&
[23%48) ( -2
10 4] 9955F M
2[ 8] 998
30 3] 99945 A&
AL 7] 21 %
5[0 5] 225 H
6 2]2781#K H
70 6] 453+ H
[ 9127807/ #

hEBEF 20 0m R 44E)

(18] (  -1.1
1[ 6]5422/) (&
2[ 4] 4361E A
3[ 5] 213%E i
4 3] 3927% 2
5[ 9] 167489 7k
[ 7] 150 &
[ 8] 63744 A&
(3481 (  +0.2
10 6] 448# [
2[ 4] 1113 )
3[ 9] 325/ )1
AL 7] 257F A
5[ 5] 2587k 1
6[ 8] 903Kk 7
70 3] 328/ &

(
R (

HE Fn 1 (EmefiRm-5%) 12. 70

KB 1 (e -5%%)12. 80

FOR 1 GERefikm-%%)12. 88

k1 (e s -5 Ri5

B R (ERERE %) Ri5
5 m)

Ze 1 BIear-5E)12. 63
ol A 2 (EEm-#HE)12.77
K A2 Gfhm-5E)12. 88
N 2 ek 5%)13. 05
Bi Ik 2 UM -5 %) 13. 06
e N (s -5 E)13.19
B H 2 (Il -#%)13. 33
8K 2 (RERBY R #EF) Ri5
2 m)
B Ik 3 (REARm -5 ) 12. 42
AR5 E) 12,57
T = 1 (EAmEeE-5$)12.93
f& 4 (R - ¥ £)13. 92
M o~ (s -#5%) 14,37
B E 1 (FEm-H£)16.49
e & (RERER-E)26. 71
T2 A% 1 (FERE-HE) RIG

m)
i Sk 3 (EiferAC4%)23. 87
A3 RN+ -5E) 24. 33
B N 3 (EA-=H-5E)24. 56
B N3 (R¥-5%)25.17
A 3 (N FETR-5E) 25. 41
3 (MRAC-#F) RIS

H 23 (FEh-5i %) Ri5

m
16t 2 (IR - 5 ) 24. 92
2

T

i

E2

)

i it
K2 (i Fif-5%) 26. 24

A

£

3p

it

J

of

Ak FH 3 (T8I - 5y 1) 26. 63
3 CHARY-5E)27.16
3 (MAmH-%E)27. 87
3 (B)I-5%)28.25
s 2 (@)l -5 %) 28. 76

BE o 2ot

B

{

Rt o

[20%8] (  +2.6
1[ 61466311 7
2[ 7142664 H
3[ 31277755 i
41 2] 9485
5[ 8]3435MH 1
60 9] 4263k B
10 4] 2718 K & &
8[ 5]46621H A&
(22%8] (  -0.5
1[ 6] 6692 B
20 2] 4141

m)

m)

e At

47 77 9211 #b
5[ 813486 1
6[ 9] 9521 &
71 4135056 &%

w1 (e E-HE) 12,
WAE2 WImEE HE)12.
KOWE 2 (FERE - HE)12.
O 2 (FEAE-HE)12.
1 #f 2 (IS 5E)12.
E A2 ONIE-BE)12,
Gk i - 55 ) 13.
— ¥ 1 (ERHERER %) 13.

(TEmetiRm 5%) 12,
il 2 (RE@-55E)12.
3[ 3] 951 % 2 RAE-HF)12.
% — 3 (KE—F-%E)13.
HOME 1 (BIBARSE)13.
o = 2 (R E)13.
W =F 1 (BlgeR-%E)14.

04
08
28
64
10
84
45
13

49
83
96
06
25
45
14

[ 5] 6677 & ik # 1 (EBERA 5 E) Ri5

4> AN

(] TRy |

1 61K H
2 925 K17
3 29704 i
4 38012 fif]
52972% ik
6 436614 ~ K

B4 (F K- )] 5010.
J&
& 4 (MEFR-FE)10.

8 888'7H 1%

(248] ( 0.0
10 8] 4664 A<
2[ 6] 400 M
3[ 7] 87475 &
41 3] 442t W
5[ 5] 3401 A&
6[ 411232% H
70 9] 64 7

(4%H] (  +0.4
1[ 3]
2[ 2]
3[ 6]
4[ 5]
50 7]
6 8]
70 4]
8[ 9]

m)

B K

m)

449
437 5 HE

44475

FHOF 1 G v K - F ) 10. 71
(eBpatex - K ¥)10. 73 +1.
W1 G K- AeiEiE) 10. 76 +0.
80 +0.
7233 ARZH fEAN 4 (Tempest-FE)10.86 0.
MO 2 CRAE K- 538 10. 87 +0.

Dt A 3 (F LA -5 %) 24.

B2 (HEmS -5 %) 25.
K i 2 (bULAERRT-HE) 25.
i A4 2 (IR B ) 26,
(HI Ry 51 %) 25.
K AN 3 (FEEATHE)26.
1 #8h 3 (Rl - 5 ) 27

88, 1L I 3 (ERILT-HE)25.
STTHE J+ & it 3 (RARELEEHE) 26.
44T THE T 2 (IR -5 %) 26.
Me K2 (I -5 %) 27.
02 Gl b 5i%)27.
443+ = e 2 IR -5E)27.
ATT953% RORER 2 (5 R -5 E)28.
Dt R 2 (IR - 5 %) 30.

AR 2 (BEEFRK-HS) 10,57 +0.
58 +0.
+0.

49
20
83
90
97
14
29

24
84
92
41
66
11
17
67

NN NN O N



4> AN
i 3

15422/ A
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